Challenge

Here is part of the division table for 3.
Can you spot the patterns?

3 divided by 3 is 1

6 divided by 3 is 2

q divided by 3is [ |
12 divided by 3is [ |

D divided by 3 is 5
18 divided by 3 is D
D divided by 3 is 7
24 divided by 3is | |

D divided by 3 is 9

30 divided by 3 is [:]



Trish, Karen and Layla
share equally a packet
of nuts. There are 21
nuts in the pack. How
many nuts do each get?




ANSWERS
Fﬂge ]

3 divided by 3 is 1
b divided by 3 is 2
9 divided by 3 is 3
12 divided by 3 is 4
15 divided by 3 is 5
18 divided by 3 is &
21 divided by 3 is J
24 divided by 3 is B
27 divided by 3is 9
30 divided by 3 is 10

7. Trish, Karen and Layla
share equally a packet
of nuts. There are 21
nuts in the pack. How
many nuts do each get?




